
1

;w-ds-ih-lh-,l izkjafHkd ijh{kk&2021 
lkekU; vè;;u (izFke iz'u i=k)

UKPCS Prelims-2021
General Studies 

(Qustions Paper-I)



2

	 1-	fuEufyf[kr esa ls dkSu&lk ns'k vÚhdk egk}hi esa 
vofLFkr ugha gS\

	 (a)	 xScu	 (b)	 xq;kuk

	 (c)	 fxuh	 (d)	 fxuh&fclkÅ

	 2-	lalkj esa lcls yEch èkjkryh; ioZr  Ük`a[kyk gS%

	 (a)	 vkYIl ioZr  Ük`a[kyk

	 (b)	 jkWdht ioZr  Ük`a[kyk

	 (c)	 fgeky; ioZr  Ük`a[kyk

	 (d)	 ,.Mht ioZr  Ük`a[kyk

	 3-	tgk¡ iwohZ ?kkV vkSj if'peh ?kkV feyrs gSa ogk¡ dkSu&lh 
igkfM+;k¡ fLFkr gSa\

	 (a)	 uhyfxjh igkfM+;k¡	 (b)	 dkjMkekse igkfM+;k¡

	 (c)	 vUukeykbZ igkfM+;k¡	 (d)	 lákæh igkfM+;k¡

	 4-	fuEukafdr esa ls dkSu&lh tyèkkjk mÙkjh vVykafVd 
egklkxj esa çokfgr ugha gksrh gS\

	 (a)	 xYiQ LVªhe	 (b)	 cSaxq,yk

	 (c)	 ukWoZsft;u	 (d)	 ÝyksfjMk

	 5-	fo'o dk nwljk lcls cM+k }hi gS%

	 (a)	 cksfuZ;ks	 (b)	 esMkxkLdj

	 (c)	 U;w fxuh	 (d)	 lqek=kk

	 6-	fuEufyf[kr esa ls dkSu&lk ;qXe lgh lqesfyr ugha gS\

	 (a)	 iQksgu & vkYIl ioZr

	 (b)	 cksjk & lkbZcsfj;k

	 (c)	 feLVªy & jkbu ?kkVh

	 (d)	 [keflu & feL=k

	 7-	fuEufyf[kr esa ls dkSu fo'o dh nwljh lcls yEch unh 
gS\

	 (a)	 uhy	 (b)	 vestu

	 (c)	 felhflIih&felkSjh	 (d)	 ;kaXrth

	 8-	 fuEufyf[kr esa ls dkSu dk;kUrfjr pêðku dk mnkgj.k 
ugha gS\

	 (a)	 DokV~tkZbV	 (b)	 ekcZy

	 (c)	 ukbl	 (d)	 MksyksekbV

	 9-	dkSu&lk iBkj vjkoyh ,oa foUè; Jsf.k;ksa ds eè; fLFkr 
gS\

	 (a)	 ekyok	 (b)	 NksVkukxiqj

	 (c)	 nDdu	 (d)	 cqUnsy[k.M

	10-	fo'o esa fdl ns'k dks ¶phuh dk dVksjk¸ dgk tkrk 
gS\

	 (a)	 Hkkjr	 (b)	 D;wck

	 (c)	 phu	 (d)	 ikfdLrku

	 1.	 Which of the following countries is not located in 
the continent of Africa?

	 (a)	 Gabon	 (b)	 Guyana
	 (c)	 Guinea	 (d)	 Guinea-Bissau
	 2.	 Longest surface mountain range in the world is :
	 (a)	 Alpus mountain range
	 (b)	 Rokies mountain range
	 (c)	 Himalaya mountain range
	 (d)	 Andies mountain range
	 3.	 Which of the following hills are present where 

Eastern Ghats and Western Ghats meet?
	 (a)	 Nilgiri hills	 (b)	 Cardamom hills
	 (c)	 Annamalai hills	 (d)	 Sahyadri hills
	 4.	 Which of the following oceanic current does not 

flow in North Atlantic ocean?
	 (a)	 Gulf Stream	 (b)	 Banguela
	 (c)	 Norwegian	 (d)	 Florida
	 5.	 The second largest Island of the world is :
	 (a)	 Borneo	 (b)	 Madagaskar
	 (c)	 New Guinea	 (d)	 Sumatra
	 6.	 Which one of the following pairs is not correctly 

matched?
	 (a)	 Foehn – Alps Mountain
	 (b)	 Bora – Siberia
	 (c)	 Mistral – Rhone Valley
	 (d)	 Khamsin – Egypt
	 7.	 Which one of the following rivers is the second 

longest river of the world?
	 (a)	 Nile
	 (b)	 Amazon
	 (c)	 Mississippi - Missouri
	 (d)	 Yangtze
	 8.	 Which of the following is not an example of 

Metamorphic rock?
	 (a)	 Quartzite	 (b)	 Marble
	 (c)	 Gneiss	 (d)	 Dolomite
	 9.	 Which plateau lies between the Aravali and the 

Vindhya ranges?
	 (a)	 Malwa	 (b)	 Chhota Nagpur
	 (c)	 Deccan	 (d)	 Bundelkhand
	 10.	 Which country is called “Bowl of Sugar” in the 

world?
	 (a)	 India	 (b)	 Cuba
	 (c)	 China	 (d)	 Pakistan
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	 11.	 Out of the following rivers which is not the 
tributary of river Sutlej?

	 (a)	 Baspa	 (b)	 Spiti

	 (c)	 Ravi	 (d)	 Beas

	 12.	 Who made the following statement – ‘Vegetation 
is the true index of climate.’?

	 (a)	 Koppen	 (b)	 Stamp

	 (c)	 Thornthwait	 (d)	 Koteshwaram

	 13.	 Which of the following layer is not included in 
Homosphere?

	 (a)	 Ionosphere	 (b)	 Troposphere

	 (c)	 Mesosphere	 (d)	 Stratosphere

	 14.	 Kodarma is famous for which mineral?
	 (a)	 Iron-Ore	 (b)	 Mica

	 (c)	 Gypsum	 (d)	 Bauxite

	 15.	 Pittsburgh of India is –
	 (a)	 Bhagalpur	 (b)	 Varanasi

	 (c)	 Sindri	 (d)	 Jamshedpur

	 16.	 In which river Mata Tila Dam is situated?
	 (a)	 Narmada	 (b)	 Son

	 (c)	 Cane	 (d)	 Betwa

	 17.	 HVJ Natural gas pipeline does not have which of 
the following gas pumping station?

	 (a)	 Aonla	 (b)	 Auraiya

	 (c)	 Babrala	 (d)	 Guna

	 18.	 Which of the following states has the highest sex-
ratio in 2011?

	 (a)	 Karnataka	 (b)	 Goa

	 (c)	 Tamil Nadu	 (d)	 Andhra Pradesh

	 19.	 Which of the following Island is not a part of 
Laccadive island?

	 (a)	 Tilanchong	 (b)	 Agathi

	 (c)	 Kavaratti	 (d)	 Kalpeni

	 20.	 Koppen has used which of the following words for 
the climate of Great Plains of India?

	 (a)	 Amw	 (b)	 As

	 (c)	 Cwg	 (d)	 Aw

	 21.	 How many districts of Uttarakhand are linked with 
the international boundaries?

	 (a)	 03	 (b)	 04

	 (c)	 05	 (d)	 06

	11-	fuEufyf[kr esa ls dkSu lh unh lryqt unh dh lgk;d 
unh ugha gS\

	 (a)	 ckLik	 (b)	 Lihfr

	 (c)	 jkoh	 (d)	 O;kl

	12-	fuEukafdr dFku fdlus dgk& ¶ouLifr tyok;q dk 
lgh ekin.M gS¸\

	 (a)	 dksisu	 (b)	 LVSEi

	 (c)	 FkkuZFosV	 (d)	 dksVs'oje~

	13-	fuEukafdr esa ls dkSu lh ijr le e.My esa lfEefyr 
ugha gS\

	 (a)	 vk;u e.My	 (b)	 {kksHk e.My

	 (c)	 eè; e.My	 (d)	lerki e.My

	14-	dksMjek fdl [kfut ds fy;s çfl¼ gS\

	 (a)	 ykSg v;Ld	 (b)	 vHkzd

	 (c)	 ftIle	 (d)	 ckWDlkbV

	15-	Hkkjr dk fiV~lcxZ gS

	 (a)	 Hkkxyiqj	 (b)	 okjk.klh

	 (c)	 flUnjh	 (d)	 te'ksniqj

	16-	ekrkVhyk ck¡èk fdl unh ij fLFkr gS\

	 (a)	 ueZnk	 (b)	 lksu

	 (c)	 dsu	 (d)	 csrok

	17-	,p- oh ts çkÑfrd xSl ikbiykbu fuEufyf[kr esa ls 
dkSu lk xSl ifEiax LVs'ku ugha j[krh gS\

	 (a)	 vk¡oyk	 (b)	 vkSjs;k

	 (c)	 ccjkyk	 (d)	 xquk

	18-	fuEufyf[kr esa ls dkSu lk jkT; 2011 esa lcls vfèkd 
fyaxkuqikr j[krk gS\

	 (a)	 dukZVd	 (b)	 xksvk

	 (c)	 rfeyukMq	 (d)	 vkUèkz çns'k

	19-	fuEufyf[kr esa ls dkSu lk }hi yDdknho }hilewgksa dk 
vax ugha gS\

	 (a)	 fryupksax	 (b)	 vxkFkh

	 (c)	 dkojrh	 (d)	 dyisuh

	20-	dksisu us Hkkjr ds fo'kky eSnku dh tyok;q ds fy;s 
fuEufyf[kr esa ls dkSu ls 'kCnksa dk ç;ksx fd;k Fkk\

	 (a)	 Amw	 (b)	 As

	 (c)	 Cwg	 (d)	 Aw

	21-	mÙkjk[kaM ds fdrus tuin vUrjkZ"Vªh; lhekvksa ls tqM+s 
gSa\

	 (a)	 03	 (b)	 04

	 (c)	 05	 (d)	 06
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	 22.	 Which districts of Uttarakhand state recorded 
negative population growth during 2001-2011 as 
per Census of India, 2011?

	 (a)	 Tehri-Garhwal and Bageshwar
	 (b)	 Pauri Garhwal and Almora
	 (c)	 Uttarkashi and Champawat
	 (d)	 Chamoli and Rudraprayag
	 23.	 ‘Govind National Park’ includes :
	 (a)	 Source region of Bhagirathi river
	 (b)	 Source region of Bhilangna river
	 (c)	 Source region of Yamuna river
	 (d)	 Source region of Tons river
	 24.	 Which one of the following places is not associated 

with SIDCUL?
	 (a)	 Roorkee	 (b)	 Selaqui
	 (c)	 Sitarganj	 (d)	 Haridwar
	 25.	 ‘Khair (Catechu) is a tree of which type of forest?
	 (a)	 Sub-Alpine Forests
	 (b)	 Cool-Temperate Forests
	 (c)	 Sub-Tropical Forests
	 (d)	 Temperate Forests
	 26.	 If a Panchayat is dissolved, elections are to be held 

within ______ month(s).
	 (a)	 One	 (b)	 Three
	 (c)	 Six	 (d)	 Nine
	 27.	 Which one of the following schedules of the 

Constitution of India, contains provisions regarding 
Anti-defection Act?

	 (a)	 4th Schedule
	 (b)	 6th Schedule
	 (c)	 8th Schedule
	 (d)	 10th Schedule
	 28.	 How many members are elected from the Lok 

Sabha for Public Account Committee?
	 (a)	 07
	 (b)	 10
	 (c)	 15
	 (d)	 22
	 29.	 The Congress declared complete Independence for 

India as its goal at which session?
	 (a)	 Lahore Session 1929
	 (b)	 Calcutta Session 1928
	 (c)	 Allahabad Session 1930
	 (d)	 None of the above

	22-	Hkkjr dh 2011 dh tux.kukuqlkj mÙkjk[k.M jkT; ds 
fdu tuinksa esa 2001&2011 ds nkSjku udkjkRed 
tula[;k o`f¼ ntZ dh xbZ\

	 (a)	 fVgjh&x<+oky rFkk ckxs'oj esa

	 (b)	 ikSM+h x<+oky rFkk vYeksM+k esa

	 (c)	 mÙkjdk'kh rFkk pEikor esa

	 (d)	 peksyh rFkk #æç;kx esa

	 23-	xksfoUn jk"Vªh; ikdZ esa lfEefyr gS

	 (a)	 HkkxhjFkh unh dk mn~xe {ks=k

	 (b)	 fHkyaxuk unh dk mn~xe {ks=k

	 (c)	 ;equk unh dk mn~xe {ks=k

	 (d)	 Vksal unh dk mn~xe {ks=k

	24-	fuEufyf[kr esa ls dkSu&lk LFkku flMdqy (SIDCUL) 
ls lEcfUèkr ugha gS\

	 (a)	 :M+dh	 (b)	 lsykdqbZ

	 (c)	 flrkjxat	 (d)	 gfj}kj

	25-	^[kSj* fdl çdkj ds ou esa ik;k tkus okyk o`{k gS\	

	 (a)	 mi&vYikbu ouksa dk

	 (b)	 'khr&'khrks".k dfVcUèkh; ouksa dk

	 (c)	 miks".k dfVcUèkh; ouksa dk

	 (d)	 'khrks".k dfVcUèkh; ouksa dk

	26-	;fn fdlh iapk;r dks Hkax fd;k tkrk gS] rks mlds 
pquko ______ ekg ds Hkhrj gks tkus pkfg,A

	 (a)	 ,d ekg	 (b)	 rhu ekg

	 (c)	 N% ekg	 (d)	 ukS ekg

	27-	Hkkjrh; lafoèkku dh fuEu esa ls fdl vuqlwph esa 
ny&cny fojksèkh vfèkfu;e ds çkoèkku ekStwn gSa\

	 (a)	 pkSFkh vuqlwph

	 (b)	 NBoha vuqlwph

	 (c)	 vkBoha vuqlwph

	 (d)	 nloha vuqlwph

	28-	yksd ys[kk lfefr ds fy;s yksdlHkk ls fdrus lnL; 
fuokZfpr fd;s tkrs gSa\

	 (a)	 lkr	 (b)	 nl

	 (c)	 iUæg	 (d)	 ckbZl

	29-	dk¡xzsl }kjk Hkkjr dh iw.kZ LorU=krk ds y{; dh ?kks"k.kk 
fdl vfèkos'ku esa dh xbZ\

	 (a)	 ykgkSj vfèkos'ku 1929

	 (b)	 dydÙkk vfèkos'ku 1928

	 (c)	 bykgkckn vfèkos'ku 1930

	 (d)	 buesa ls dksbZ ugha
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	 30.	 When the Hindi version of National Anthem Jana-
Gana-Mana was adopted by the Constituent 
Assembly of India?

	 (a)	 26 November, 1949	 (b)	 24 January, 1950
	 (c)	 17 November, 1947	 (d)	 9 December, 1946
	 31.	 Among the following who was the first President 

of Human Rights Commission of India?
	 (a)	 Justice M.N. Venkatchaillaiya
	 (b)	 Justice J.S. Verma
	 (c)	 Justice K. Rama Swami
	 (d)	 Justice Rangnath Mishra
	 32.	 Who among the following was the first Lieutenent 

Governor of newly created Union Territory of 
Jammu & Kashmir?

	 (a)	 Radha Krishan Mathur
	 (b)	 Girish Chandra Murmu
	 (c)	 Manoj Sinha
	 (d)	 Satyapal Malik
	 33.	 To whom the Chief of Defense Staff (CDS) is 

military advisor on Tri-services matters?
	 (a)	 President of India
	 (b)	 Prime Minister of India
	 (c)	 Defence Minister of India
	 (d)	 Home Minister of India
	 34.	 In which year the International Labour Organisaton 

was established?
	 (a)	 1919	 (b)	 1920
	 (c)	 1921	 (d)	 1922
	 35.	 Right to Property belongs to which category 

amongst the following?
	 (a)	 Legal Right	 (b)	 Fundamental Right
	 (c)	 Natural Right	 (d)	 Human Right
	 36.	 Who among the following chairs the Zonal 

Council?
	 (a)	 Prime Minister of India
	 (b)	 Home Minister of India
	 (c)	 Chief Ministers of the zones in rotations
	 (d)	 Finance Minister of India
	 37.	 Match the List-I with List-II and select the correct 

answer using the code given below the lists :
		  List-I		 List-II
		  (Name of States)		 (Seats in Rajya Sabha)
	 A.	 Jharkhand	 1.	07
	 B.	 Uttarakhand	 2.	05
	 C.	 Chhattisgarh	 3.	03
	 D.	 Punjab	 4.	06

	30-	Hkkjr dh lafoèkku lHkk }kjk jk"Vªxku tu x.k eu dk 
fgUnh çk:i dc viuk;k x;k Fkk\

	 (a)	 26 uoEcj] 1949	 (b)	 24 tuojh] 1950

	 (c)	 17 uoEcj] 1947	 (d)	 9 fnlEcj] 1946

	31-	fuEufyf[kr esa ls dkSu Hkkjr ds ekuokfèkdkj vk;ksx 
ds çFke vè;{k Fks\

	 (a)	 U;k;ewfrZ ,e-,u- oSdVpYyS;k

	 (b)	 U;k;ewfrZ ts- ,l- oekZ

	 (c)	 U;k;ewfrZ ds- jkekLokeh

	 (d)	 U;k;ewfrZ jaxukFk feJk

	32-	uol`ftr dsUæ 'kkflr çns'k tEew vkSj d'ehj dk çFke 
mijkT;iky fuEu esa ls dkSu Fkk\

	 (a)	 jkèkk Ñ".k ekFkqj

	 (b)	 fxfj'k pUæ eqeZw

	 (c)	 eukst flUgk

	 (d)	 lR;iky efyd

	33-	phiQ vkWiQ fMiQsUl LVkiQ (CDS) rhuksa lsukvksa dh 
lsokvksa ds fo"k; esa fdlds lSU; lykgdkj gSa\

	 (a)	 Hkkjr ds jk"Vªifr ds

	 (b)	 Hkkjr ds çèkkuea=kh ds

	 (c)	 Hkkjr ds j{kk ea=kh ds

	 (d)	 Hkkjr ds x`g ea=kh ds

	34-	vUrjkZ"Vªh; Je laxBu dh LFkkiuk fdl o"kZ gqbZ\
	 (a)	 1919	 (b)	 1920

	 (c)	 1921	 (d)	 1922

	35-	lEifÙk dk vfèkdkj fuEu esa ls dkSu lh Js.kh esa 
lfEefyr gS\

	 (a)	 dkuwuh vfèkdkj	 (b)	 ekSfyd vfèkdkj

	 (c)	 çkÑfrd vfèkdkj	 (d)	ekuo vfèkdkj

	36-	fuEu esa ls dkSu {ks=kh; ifj"kn dh vè;{krk djrk gS\
	 (a)	 Hkkjr ds çèkkuea=kh

	 (b)	 Hkkjr ds x`g eU=kh

	 (c)	 Øekuqlkj {ks=kksa ds eq[;eU=kh

	 (d)	 Hkkjr ds foÙk eU=kh

	37-	lwph&I dks lwph&II ds lkFk lqesfyr dhft, vkSj lwfp;ksa 
ds uhps fn;s x;s dwV ls lgh mÙkj dk p;u dhft,%

		  lwph&I	 	 lwph&II

		  (jkT;ksa ds uke)		  (jkT; lHkk esa lhVsa)

	 A.	 >kj[k.M	 1-	 07

	 B.	 mÙkjk[k.M	 2-	 05

	 C.	 NÙkhlx<+	 3-	 03

	 D.	 iatkc	 4-	 06
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		  Codes :
		  A	 B	 C	 D
	 (a)	 2	 4	 1	 3
	 (b)	 1	 2	 3	 4
	 (c)	 3	 1	 4	 2
	 (d)	 4	 3	 2	 1

	 38.	 In which year, the SAARC Summit, for the first 
time was held in India?

	 (a)	 1986	 (b)	 1995
	 (c)	 2007	 (d)	 None of these
	 39.	 Which of the following Constitutional Amendments 

is related to the formation of the National 
Commission for Backward Classes in India?

	 (a)	 The 100th Constitutional Amendment
	 (b)	 The 101st Constitutional Amendment
	 (c)	 The 102nd Constitutional Amendment
	 (d)	 None of these
	 40.	 What is the tenure of a member of State Legislative 

Council?
	 (a)	 5 years	 (b)	 6 years
	 (c)	 7 years	 (d)	 4 years
	 41.	 Who was the Prime Minister of India when the 

basic principle of India’s Nuclear Doctrine of ‘No 
First Use’ was adopted?

	 (a)	 I.K. Gujaral
	 (b)	 Atal Bihari Vajpayee
	 (c)	 Manmohan Singh
	 (d)	 Indira Gandhi
	 42.	 On which of the following dates the ‘Civil Services 

Day’ is celebrated in India?
	 (a)	 July 21	 (b)	 June 21
	 (c)	 May 21	 (d)	 April 21
	 43.	 In which year the Central Information Commission 

was established?
	 (a)	 2005	 (b)	 2006
	 (c)	 2007	 (d)	 2008
	 44.	 In which year ‘The Air (Prevention And Control 

of Pollution) Act was enacted?
	 (a)	 1980	 (b)	 1974
	 (c)	 1981	 (d)	 1986
	 45.	 In which year the number of women member of 

Parliament was the lowest in Lok Sabha?
	 (a)	 1952	 (b)	 1967
	 (c)	 1977	 (d)	 1989

		 dwV%
		  A	 B	 C	 D
	 (a)	 2	 4	 1	 3
	 (b)	 1	 2	 3	 4
	 (c)	 3	 1	 4	 2
	 (d)	 4	 3	 2	 1

	38-	Hkkjr esa lkdZ (n{ksl) f'k[kj lEesyu loZçFke fdl 
o"kZ vk;ksftr fd;k x;k Fkk\

	 (a)	 1986	 (b)	 1995

	 (c)	 2007	 (d)	 buesa ls dksbZ ugha

	39-	fuEukafdr esa ls dkSu lk laoSèkkfud la'kksèku Hkkjr esa 
fiNM+h tkfr;ksa ds fy;s jk"Vªh; vk;ksx ds xBu ls 
lEcafèkr gS\

	 (a)	 100ok¡ laoSèkkfud la'kksèku

	 (b)	 101ok¡ laoSèkkfud la'kksèku

	 (c)	 102ok¡ laoSèkkfud la'kksèku

	 (d)	 buesa ls dksbZ ugha

	40-	jkT; foèkku ifj"kn ds lnL; dk dk;Zdky fdruk gksrk 
gS\

	 (a)	 5 o"kZ	 (b)	 6 o"kZ

	 (c)	 7 o"kZ	 (d)	 4 o"kZ

	41-	Hkkjr }kjk ^igys ç;ksx ugha* (No first use) dh çeq[k 
ukfHkdh; uhfr viukrs le; Hkkjr ds çèkkuea=kh dkSu 
Fks\

	 (a)	 vkbZ- ds- xqtjky

	 (b)	 vVy fcgkjh oktis;h

	 (c)	 eueksgu flag

	 (d)	 bfUnjk xkaèkh

	42-	fuEufyf[kr frfFk;ksa esa ls fdl fnu Hkkjr esa ^ukxfjd 
lsok,¡ fnol* (Civil Services Day) euk;k tkrk gS\

	 (a)	 tqykbZ 21	 (b)	twu 21

	 (c)	 ebZ 21	 (d)	 vçSy 21

	43-	dsUæh; lwpuk vk;ksx dh LFkkiuk fdl o"kZ gqbZ Fkh\
	 (a)	 2005	 (b)	 2006

	 (c)	 2007	 (d)	 2008

	 44	ok;q (laj{k.k ,oa çnw"k.k fu;U=k.k) vfèkfu;e fdl o"kZ 
cuk Fkk\

	 (a)	 1980	 (b)	1974

	 (c)	 1981	 (d)	1986

	45-	fdl o"kZ yksdlHkk esa efgyk lkalnksa dh la[;k U;wure 
Fkh\

	 (a)	 1952	 (b)	 1967

	 (c)	 1977	 (d)	 1989



7

	 46.	 Who among the following has the right to 
participate in the parliamentary proceedings?

	 (a)	 Attorney General of India
	 (b)	 Solicitor General of India
	 (c)	 Chief Justice of India
	 (d)	 None of these
	 47.	 The Uttaranchal (Change of Name) Act, came into 

existence in which of the following years?
	 (a)	 2000	 (b)	 2003
	 (c)	 2006	 (d)	 None of these
	 48.	 The State of Uttarakhand came into existence on 

which of the following dates?
	 (a)	 9-11-2000	 (b)	 9-11-2001
	 (c)	 11-11-2001	 (d)	 5-11-2001
	 49.	 Who among the following was the Chief Minister 

of Uttarakhand, who declared in the Legislative 
Assembly that Gairsain would be the summer 
capital of Uttarakhand?

	 (a)	 Trivendra Singh Rawat
	 (b)	 Tirath Singh Rawat
	 (c)	 Harish Rawat
	 (d)	 Puskhar Singh Dhami
	 50.	 Which one of the following commissioners of 

colonial Kumaon and Garhwal introduce the 
‘Revenue Police’ system?

	 (a)	 George William Traill
	 (b)	 Lt. Col. Gardiner
	 (c)	 Sir Henry Ramsay
	 (d)	 Daniel Ibbotson
	 51.	 How many Lok Sabha members are elected from 

Uttarakhand?
	 (a)	 7	 (b)	 5
	 (c)	 3	 (d)	 8
	 52.	 ‘Tobin Tax’ is levied on :
	 (a)	 on bodies creating externalities
	 (b)	 on the basis of weight
	 (c)	 on foreign exchange transactions
	 (d)	 on the basis of value
	 53.	 Who regulates the market of Agricultural Products 

in India?
	 (a)	 Essential Commodities Act, 1955
	 (b)	 Agricultural Produce Market Committee Act 

enacted by States
	 (c)	 Agricultural Produce (Grading and 

Marketing) Act, 1937
	 (d)	 Food Products Order, 1956

	46-	fuEu esa ls fdls laln dh dk;Zokfg;ksa esa Hkkx ysus dk 
vfèkdkj çkIr gS\

	 (a)	 Hkkjr ds egkU;k;oknh

	 (b)	 Hkkjr ds egkU;k;kfHkdrkZ

	 (c)	 Hkkjr ds eq[; U;k;kèkh'k

	 (d)	 buesa ls dksbZ ugha

	47-	mÙkjkapy (uke ifjorZu) vfèkfu;e fuEukafdr esa ls 
fdl o"kZ esa vfLrRo esa vk;k\

	 (a)	 2000	 (b)	 2003

	 (c)	 2006	 (d)	 buesa ls dksbZ ugha

	48-	mÙkjk[k.M jkT; fuEu esa ls fdl frfFk dks vfLrRo esa 
vk;k\

	 (a)	 9&11&2000	 (b)	 9&11&2001

	 (c)	 11&11&2001	 (d)	 5&11&2001

	49-	fuEu esa ls mÙkjk[k.M dk og dkSu lk eq[;ea=kh Fkk] 
ftlus foèkku lHkk esa xSjlSa.k dks xzh"edkyhu jktèkkuh 
cukus dh ?kks"k.kk dh\

	 (a)	 f=kosUæ flag jkor

	 (b)	 rhjFk flag jkor

	 (c)	 gjh'k jkor

	 (d)	 iq"dj flag èkkeh

	50-	vkSifuosf'kd dqekÅ¡ vkSj x<+oky ds fuEukafdr esa ls 
fdl dfe'uj us ^jktLo iqfyl* ç.kkyh dk çkjEHk 
fd;k\

	 (a)	 tkWtZ fofy;e Vªsy

	 (b)	 ys- duZy xkfMZuj

	 (c)	 lj gsujh jSets

	 (d)	 Msfu;y bcVlu

	51-	mÙkjk[kaM ls fdrus yksdlHkk lkaln fuokZfpr gksrs gSa\
	 (a)	 7	 (b)	 5

	 (c)	 3	 (d)	 8

	52-	Vksfcu VSDl yxk;k tkrk gS%
	 (a)	 ckárk,¡ l`ftr djus okyh laLFkkvksa ij

	 (c)	 fons'kh fofue; ysu&nsu ij

	 (b)	 Hkkj ds vkèkkj ij

	 (d)	 ewY; ds vkèkkj ij

	53-	Hkkjr esa Ñf"k mRiknksa ds cktkj dks dkSu fofu;fer 
djrk gS\

	 (a)	 vko';d oLrq vfèkfu;e] 1955

	 (b)	 jkT;ksa }kjk vfèkfu;fer Ñf"k mRikn foi.ku lfefr 
vfèkfu;e

	 (c)	 Ñf"k mRikn (Js.kh;u ,oa foi.ku) vfèkfu;e] 1937

	 (d)	 [kk| mRikn vkns'k] 1956
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	 54.	 Which of the following statement is not correct 
about ‘National Development Council’?

	 (a)	 It includes Chief Ministers of all states.

	 (b)	 It is a non-constitutional body.

	 (c)	 It is a statutory body .

	 (d)	 It should meet at least twice in a year.

	 55.	 Which of the following was not a part of 11th five 
year plan inclusive growth strategy?

	 (a)	 Reduction in Poverty

	 (b)	 Extension of employment opportunity

	 (c)	 Reduction in gender inequality

	 (d)	 Strengthening of capital market

	 56.	 Which one is correct about IMF?
	 (a)	 It grants loan to any country.

	 (b)	 It grants loan to only developing countries.

	 (c)	 It grants loan to only member countries.

	 (d)	 It grants loan to the Central Bank of a 
country.

	 57.	 The rise in value of one currency relative to another 
is –

	 (a)	 A weakening of a currency

	 (b)	 A depreciation of a currency

	 (c)	 An appreciation of a currency

	 (d)	 A debasement of a currency

	 58.	 Which of the following statement is correct?
	 (a)	 Inflation benefits the bond holders.

	 (b)	 Inflation benefits the debtors.

	 (c)	 Inflation benefits the fixed income groups.

	 (d)	 None of these

	 59.	 Which of the following changes have taken place 
in Indian Economy after Economic Reforms in 
1991?

	 (a)	 Share of agriculture in GDP has increased 
enormously.

	 (b)	 FDI inflows have increased.

	 (c)	 Foreign exchange reserve has increased.

	 (d)	 Both (b) and (c)

	 60.	 Sweat Equity shares are issued to which of the 
following?

	 (a)	 Ordinary Shareholders

	 (b)	 Preference Shareholders

	 (c)	 Both (a) and (b)

	 (d)	 Employees of the company

	54-	fuEufyf[kr esa ls dkSu&lk dFku jk"Vªh; fodkl ifj"kn~ 
ds lacaèk esa lgh ugha gS\

	 (a)	 blds vUrxZr lHkh jkT;ksa ds eq[;ea=kh gksrs gSaA

	 (b)	 ;g ,d xSj laoSèkkfud fudk; gSA

	 (c)	 ;g ,d oSèkkfud fudk; gSA

	 (d)	 çR;sd o"kZ esa de ls de nks ckj bldh cSBd 
gksuh pkfg,A

	55-	X;kjgoha iapo"khZ; ;kstuk esa çfrikfnr lekos'kh fodkl 
esa] fuEufyf[kr esa D;k 'kkfey ugha Fkk\

	 (a)	 xjhch dks ?kVkukA

	 (b)	 jks”kxkj ds voljksa dk foLrkjA

	 (c)	 ySafxd vlekurk dks de djukA

	 (d)	 iw¡th cktkj dks etcwr cukukA

	56-	vUrjkZ"Vªh; eqæk dks"k (vkbZ-,e-,iQ-) ds ckjs esa D;k 
lgh gS\

	 (a)	 ;g fdlh Hkh ns'k dks dtZ nsrk gSA

	 (b)	 ;g fliQZ fodkl'khy ns'kksa dks dtZ nsrk gSA

	 (c)	 ;g fliQZ lnL; ns'kksa dks dtZ nsrk gSA

	 (d)	 ;g ns'k ds dsUæh; cSad dks dtZ nsrk gSA

	57-	,d eqæk ds ewY; esa o`f¼ nwljh dh rqyuk esa gS

	 (a)	 eqæk dk detksj gksuk

	 (b)	 eqæk dk ewY;ßkl

	 (c)	 eqæk dh ewY; o`f¼

	 (d)	 eqæk dk voewY;u

	58-	fuEufyf[kr dFkuksa esa ls dkSu lk dFku lgh gS\

	 (a)	 eqækLiQhfr caèki=k èkkjd dks ykHk igq¡pkrh gSA

	 (b)	 eqækLiQhfr mèkkj ysus okyksa dks ykHk igqapkrh gSA

	 (c)	 eqækLiQhfr LFkk;h vk; lewg dks ykHk igqapkrh gSA

	 (d)	 buesa ls dksbZ Hkh ughaA

	59-	1991 ds vkfFkZd lqèkkj ds ckn] Hkkjrh; vFkZO;oLFkk 
esa fuEu esa ls D;k ifjorZu gqvk gS\

	 (a)	 GDP esa Ñf"k dk fgLlk cgqr c<+k gSA

	 (b)	 FDI dk vUr% çokg c<+ x;k gSA

	 (c)	 fons'kh fofue; dks"k esa o`f¼ gqbZ gSA

	 (d)	 nksuksa (b) vkSj (c)

	60-	LoSV bfDoVh 'ks;lZ (Sweat equity shares)] fuEufyf[kr 
esa ls fdls vkoafVr fd;s tkrs gSa\

	 (a)	 lkèkkj.k 'ks;jèkkjdksa dksA

	 (b)	 vfèkeku 'ks;jèkkjdksa dksA

	 (c)	 nksuksa (a) ,oa (b) dksA

	 (d)	 daiuh ds deZpkfj;ksa dksA
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	 61.	 “National Food Security Mission” was launched 
to increase the production of which commodity/
commodities?

	 (a)	 Wheat	 (b)	 Rice
	 (c)	 Pulses	 (d)	 All of these
	 62.	 What kind of Tax System is found in India?
	 (a)	 Progressive	 (b)	 Degressive
	 (c)	 Proportional	 (d)	 Regressive
	 63.	 Which of the following plan is called “Rolling 

Plan”?
	 (a)	 Third Plan
	 (b)	 Fifth Plan
	 (c)	 Sixth Plan
	 (d)	 Eighth Plan
	 64.	 Which of the following statement is correct?
	 (a)	 NNP = GNP – Depreciation
	 (b)	 NNP = GDP + Net Income from abroad – 

Depreciation
	 (c)	 Both (a) and (b) are correct
	 (d)	 None of these
	 65.	 Which of the following is not an example of foreign 

direct investment?
	 (a)	 The acquisition of existing textile mill 

overseas
	 (b)	 The creation of a wholly owned business 

firm overseas
	 (c)	 The purchase of bonds or stocks issued by 

Pharma Company overseas
	 (d)	 The construction of a new steel plant 

overseas
	 66.	 The World Trade Organisation (WTO) is sometimes 

criticised for all of the following reasons except 
that:

	 (a)	 it has no way to solve trade disputes among 
member nations.

	 (b)	 it is puppet of multinational corporations.
	 (c)	 it reduces the sovereignity of member 

countries.
	 (d)	 it favours free trade over the quality of 

products.
	 67.	 If Primary deficit is zero, then the amount of 

borrowing will be:
	 (a)	 more than interest payment
	 (b)	 less than interest payment
	 (c)	 just equal to the interest payment
	 (d)	 None of these

	61-	¶jk"Vªh; [kk| lqj{kk fe'ku¸ dh 'kq#vkr fdl @ fdu] 
oLrq @ oLrqvksa ds mRiknu dks c<+kus ds fy;s dh x;h 
Fkh\

	 (a)	 xsgw¡	 (b)	 pkoy

	 (c)	 nkysa	 (d)	 ;g lHkh

	62-	Hkkjr esa fdl çdkj dh dj ç.kkyh ikbZ tkrh gS\

	 (a)	 çxfr'khy	 (b)	 vèkksxkeh

	 (c)	 vkuqikfrd	 (d)	 çfrxkeh

	63-	fuEu esa ls dkSu lh ;kstuk ^jksfyax Iyku* dgh tkrh 
gS\

	 (a)	 rhljh ;kstuk

	 (b)	 ik¡poha ;kstuk

	 (c)	 NBoha ;kstuk

	 (d)	 vkBoha ;kstuk

	64-	fuEu esa ls dkSu lk dFku lgh gS\

	 (a)	 NNP ¾ GNP & f?klkoV O;;

	 (b)	 NNP ¾ GDP $ fons'kksa ls çkIr 'kq¼ vk; 
f?klkoV O;;

	 (c)	 (a) rFkk (b) nksuksa lgh gSaA

	 (d)	 buesa ls dksbZ ughaA

	65-	fuEufyf[kr esa dkSu lk fons'kh çR;{k fuos'k dk mnkgj.k 
ugha gS\

	 (a)	 fons'kksa esa ekStwn diM+k fey dk vfèkxzg.kA

	 (b)	 fons'kksa esa iw.kZ LokfeRo okyh O;kolkf;d iQeZ 
dk fuekZ.kA

	 (c)	 fons'kksa esa iQkekZ daiuh }kjk fuxZr ckaM vFkok 
LVkWd dk Ø;A

	 (d)	 fons'kksa esa u, LVhy la;a=k dk fuekZ.kA

	66-	fo'o O;kikj laxBu dh fuEufyf[kr lHkh dkj.kksa ls 
dHkh&dHkh vkykspuk dh tkrh gS] flok; blds fd

	 (a)	 blds ikl lnL; ns'kksa ds chp O;kikj fooknksa 
dks fuiVkus gsrq dksbZ rjhdk ugha gSA

	 (b)	 ;g cgqjk"Vªh; fuxeksa dh dBiqryh gSA

	 (c)	 ;g lnL; ns'kksa dh laçHkqrk dks de djrk gSA

	 (d)	 ;g mRiknksa dh xq.koÙkk ds Åij Lora=k O;kikj 
dk leFkZu djrk gSA

	67-	;fn çkFkfed ?kkVk 'kwU; gS rc mèkkj dh jkf'k gksxh

	 (a)	 C;kt Hkqxrku ls vfèkdA

	 (b)	 O;kt Hkqxrku ls deA

	 (c)	 C;kt Hkqxrku ds Bhd cjkcjA

	 (d)	 buesa ls dksbZ ughaA
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	 68.	 Gender Inequality Index (GII) was introduced in 
which Human Development Report (HDR) of 
UNDP?

	 (a)	 HDR 2007
	 (b)	 HDR 2008
	 (c)	 HDR 2009
	 (d)	 HDR 2010
	 69.	 What is the Human Development Index (HDI) rank 

of India in the Human Development Report 2020 
of UNDP?

	 (a)	 128	 (b)	 129
	 (c)	 130	 (d)	 131
	 70.	 In which of the following year, the latest 

classification of MSME was done?
	 (a)	 2012	 (b)	 2014
	 (c)	 2018	 (d)	 2020
	 71.	 Which of the following are called gilt edged 

securities?
	 (a)	 Shares of Public Limited Companies
	 (b)	 Government Securities
	 (c)	 Shares of Private Limited Companies
	 (d)	 Stocks of Mutual Funds
	 72.	 Multilateral Investment Guarantee Agency 

(MIGA) is related to :
	 (a)	 World Bank Group
	 (b)	 International Monetary Fund (IMF)
	 (c)	 International Finance Corporation (IFC)
	 (d)	 International Development Association 

(IDA)
	 73.	 Which of the following taxes are abolished by the 

Goods and Services Tax?
	 (a)	 Property Tax	 (b)	 Corporation Tax
	 (c)	 Value Added Tax	 (d)	 Income Tax
	 74.	 Which one of the following organisations is not 

located in Uttarakhand?
	 (a)	 C.B.R.I.	 (b)	 O.N.G.C.
	 (c)	 H.A.L.	 (d)	 B.H.E.L.
	 75.	 In which year VAT was introduced in Uttarakhand?
	 (a)	 2007	 (b)	 2010
	 (c)	 2012	 (d)	 2005
	 76.	 In how many hill districts of Uttarakhand, Tea 

Development Programme was carried out during 
the year 2020-2021?

	 (a)	 10	 (b)	 9
	 (c)	 8	 (d)	 7

	68-	;w- ,u- Mh- ih- (UNDP) ds fdl ekuo fodkl fjiksVZ 
(HDR) esa fyax vlekurk lwpdkad dh 'kq#vkr gqbZ

	 Fkh\

	 (a)	 ,p-Mh- vkj- 2007	 (b)	 ,p-Mh- vkj- 2008

	 (c)	 ,p-Mh- vkj- 2009	 (d)	 ,p-Mh- vkj- 2010

	69-	;w- ,u- Mh- ih- (UNDP) dh ekuo fodkl fjiksVZ 
2020 esa Hkkjr dk ekuo fodkl lwpdkad (HDI) jSad 
D;k gS\

	 (a)	 128	 (b)	 129

	 (c)	 130	 (d)	 131

	70-	fuEu esa ls fdl o"kZ esa MSME dk v|ru oxhZdj.k 
fd;k x;k Fkk\

	 (a)	 2012	 (b)	 2014

	 (c)	 2018	 (d)	 2020

	71-	fuEufyf[kr esa ls dkSu lh ^fxYV ,UM flD;ksfjVht* 
dgykrh gSa\

	 (a)	 ifCyd fyfeVsM dEiuht ds 'ks;j

	 (b)	 ljdkjh çfrHkwfr;k¡

	 (c)	 çkbosV fyfeVsM dEiuht ds 'ks;j

	 (d)	 E;wpqvy iQ.M~l ds LVkWd

	72-	cgqi{kh; fofu;ksx xkj.Vh vfHkdj.k (MIGA) lEcfUèkr 
gS%

	 (a)	 fo'o cSad lewg ls

	 (c)	 vUrjkZ"Vªh; foÙk fuxe ls

	 (b)	 vUrjkZ"Vªh; eqæk dks"k ls

	 (d)	 vUrjkZ"Vªh; fodkl la?k ls

	73-	oLrq ,oa lsok dj }kjk fuEufyf[kr esa ls fdl dj dks 
lekIr fd;k x;k gS\

	 (a)	 lEifÙk dj	 (b)	 dkWikZsjs'ku dj

	 (c)	 ewY; laof¼Zr dj	 (d)	 vk; dj

	74-	fuEukafdr esa ls dkSu lk çfr"Bku mÙkjk[k.M esa fLFkr 
ugha gS\

	 (a)	 lh-ch-vkj-vkbZ-	 (b)	 vks-,u-th-lh-

	 (c)	 ,p-,-,y-	 (d)	 ch-,p-bZ-,y-

	75-	mÙkjk[k.M esa oSV (VAT) fdl o"kZ ls çkjEHk fd;k 
x;k\

	 (a)	 2007	 (b)	 2010

	 (c)	 2012	 (d)	 2005

	76-	mÙkjk[k.M ds fdrus ioZrh; ftyksa esa o"kZ 2020&2021 
esa pk; fodkl dk;ZØe lapkfyr fd;k x;k\

	 (a)	 10	 (b)	 9

	 (c)	 8	 (d)	 7
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	 77.	 Which among the following banks have the lowest 
number of branches in Uttarakhand in the year 
2020-2021?

	 (a)	 Nationalised Banks
	 (b)	 Regional Banks
	 (c)	 Private Banks
	 (d)	 District Co-operative Banks
	 78.	 Who is known as father of Genetics?
	 (a)	 Hargobind Khurana
	 (b)	 Thomas Hunt Morgan
	 (c)	 Robert Brown
	 (d)	 Johann Gregor Mendel
	 79.	 What are ‘Ramsar Sites’?
	 (a)	 Monuments of International Importance
	 (b)	 Mountains of International Importance
	 (c)	 Wetlands of International Importance
	 (d)	 Volcanoes of International Importance
	 80.	 In the year 2021, the Nobel Prize in Chemistry was 

awarded to :
	 (a)	 Syukuro Manabe, Klaus Hasselmann & 

Giorgio Parisi
	 (b)	 David Julius & Ardem Patapoutian
	 (c)	 Benjamin List & David MacMillan
	 (d)	 Abdulrazak Gurnah
	 81.	 In the year 2021 where was the 26th United Nations 

Climate Change Conference COP-26 held?
	 (a)	 New York	 (b)	 Tokyo
	 (c)	 Glasgow	 (d)	 Beijing
	 82.	 The logo of International Organisation – WWF 

(World Wide Fund for Nature) is:
	 (a)	 Asiatic Lion	 (b)	 Giant Panda
	 (c)	 Musk Deer	 (d)	 Indian Wild Ass
	 83.	 At present, the highest civilian award of the 

‘Republic of India’ is –
	 (a)	 Padma Vibhushan
	 (b)	 Padma Bhusan
	 (c)	 Padma Shri
	 (d)	 Bharat Ratna
	 84.	 Remote Sensing uses which of the following in its 

applications?
	 (a)	 Electric waves
	 (b)	 Sonar waves
	 (c)	 Gamma rays
	 (d)	 Electromagnetic waves

	77-	mÙkjk[k.M esa fuEufyf[kr esa ls fdl çdkj ds cSadksa 
dh la[;k o"kZ 2020&2021 esa U;wure Fkh\

	 (a)	 jk"Vªh;Ñr cSad

	 (b)	 {ks=kh; cSad

	 (c)	 futh cSad

	 (d)	 ftyk lgdkjh cSad

	78-	vkuqoaf'kdh foKku (tsusfVDl) dk tud (firk) fdls 
ekuk tkrk gS\

	 (a)	 gjxksfcUn [kqjkuk

	 (b)	 FkkWel gUV ekWjaxu

	 (c)	 jkWcVZ czkmu

	 (d)	 tksgku xzsxj es.My

	79-	^jkelj LFky* D;k gSa\
	 (a)	 varjkZ"Vªh; egRo ds Lekjd

	 (b)	 varjkZ"Vªh; egÙo ds ioZr

	 (c)	 varjkZ"Vªh; egRo dh vkæZHkwfe;k¡

	 (d)	 varjkZ"Vªh; egRo ds Tokykeq[kh

	80-	o"kZ 2021 dk jlk;u 'kkL=k dk ukscsy iqjLdkj _____ 
dks çnku fd;k x;kA

	 (a)	 lkbdwjks ekukcs] DykWl gSlyeu o ftvkjft;ks 
ikfjlh dks

	 (b)	 MsfoM twfy;l o vkjMse ikVkiksf'k;u dks

	 (c)	 csatkfeu fyLV o MsfoM eSdfeyu dks

	 (d)	 vCnqyjtkd xqjukg dks

	81-	o"kZ 2021 esa] 26osa la;qDr jk"Vª tyok;q ifjorZu lEesyu 
dkWi&26 dk vk;kstu dgk¡ gqvk\

	 (a)	 U;w;kWdZ esa	 (b)	 VksD;ks esa

	 (c)	 Xyklxks esa	 (d)	chftax esa

	 82-	varjkZ"Vªh; laLFkk & MCY;w MCY;w ,iQ (çÑfr gsrq fo'o 
O;kid dks"k) dk çrhd fpÉ gSa

	 (a)	 ,f'k;kbZ 'ksj	 (b)	 egkdk; ik.Mk

	 (c)	 dLrwjh e`x	 (d)	 Hkkjrh; taxyh xèkk

	83-	orZeku esa] Hkkjr x.kjkT;* dk lokZsPp ukxfjd iqjLdkj 
gS

	 (a)	 iÁ foHkw"k.k	 (b)	 iÁ Hkw"k.k

	 (c)	 iÁ Jh	 (d)	 Hkkjr jRu

	84-	lqnwj laosnu rduhd esa fuEu esa ls fdldk ç;ksx gksrk 
gS\

	 (a)	 fo|qr rjaxksa dk

	 (b)	 lksukj rjaxksa dk

	 (c)	 xkek rjaxksa dk

	 (d)	 fo|qrpqEcdh; rjaxksa dk
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	 85.	 Jhoom is :
	 (a)	 A type of folk dance
	 (b)	 Name of a river
	 (c)	 A tribe in the North-East
	 (d)	 A type of agriculture (cultivation)
	 86.	 The substance which has a large number of free 

electrons and offer a low resistance is called :
	 (a)	 Insulator	 (b)	 Inductor
	 (c)	 Conductor	 (d)	 Semi-conductor
	 87.	 Light travels at a maximum speed in :
	 (a)	 Air	 (b)	 Water
	 (c)	 Vacuum	 (d)	 None of these
	 88.	 Which among the following animal is called as – 

“Ploughers of the soil”?
	 (a)	 Earthworm	 (b)	 Snake
	 (c)	 Frog	 (d)	 None of these
	 89.	 Scurvy disease is caused by the deficiency of which 

vitamin?
	 (a)	 Vitamin A	 (b)	 Vitamin B12

	 (c)	 Vitamin C	 (d)	 Vitamin D
	 90.	 The sperms used for artificial insemination of cattle 

are stored in :
	 (a)	 Liquid nitrogen	 (b)	 Dry ice
	 (c)	 Liquid oxygen	 (d)	 Liquid ammonia
	 91.	 To which of the following chemical groups – 

Cellulose belongs?
	 (a)	 Carbohydrates	 (b)	 Proteins
	 (c)	 Lipids	 (d)	 Nucleic acids
	 92.	 Two bacteria found to be very useful in genetic 

engineering experiments are _______.
	 (a)	 Nitrosomonas and Kliebsiella
	 (b)	 Escherichia coli and Agrobacterium
	 (c)	 Nitrobacter and Azotobacter
	 (d)	 Rhizobium and Diplococcus
	 93.	 A transition zone between two biological 

communities is referred to as :
	 (a)	 Ecosystem
	 (b)	 Ecotone
	 (c)	 Ecad
	 (d)	 Eco-barrier
	 94.	 If any one input is HIGH (or 1), and output is also 

HIGH (or 1), such Gate is :
	 (a)	 OR Gate
	 (b)	 AND Gate
	 (c)	 NOT Gate
	 (d)	 NOR Gate

	85-	>we gS

	 (a)	 ,d çdkj dk yksd u`R;

	 (b)	 ,d unh dk uke

	 (c)	 iwokZsÙkj dh ,d tutkfr

	 (d)	 Ñf"k ([ksrh) dh ,d i¼fr

	86-	ftl inkFkZ esa cM+h la[;k esa eqDr bysDVªkWUl gksrs gSa vkSj 
de çfrjksèk n'kkZrk gS] dgykrk gS%

	 (a)	 dqpkyd	 (b)	 çsjd

	 (c)	 pkyd	 (d)	 v¼Zpkyd

	87-	çdk'k dh xfr vfèkdre gksrh gS ______
	 (a)	 ok;q esa	 (b)	 ty esa

	 (c)	 fuokZr esa	 (d)	 buesa ls dksbZ ugha

	88-	fuEufyf[kr esa ls fdl tUrq dks Hkwfe dk Ñ"kd (tksrus 
okyk) dgk tkrk gS\

	 (a)	 dsapqvk	 (b)	 liZ (lk¡i)

	 (c)	 esa<d	 (d)	 buesa ls dksbZ ugha

	89-	LdohZ jksx fdl foVkfeu dh deh ds dkj.k gksrk gS\

	 (a)	 foVkfeu ,	 (d)	 foVkfeu ch
12

	 (c)	 foVkfeu lh	 (d)	 foVkfeu Mh

	90-	i'kqvksa ds Ñf=ke xHkkZèkku esa ç;qDr 'kqØk.kqvksa dks 
______ esa laxzghr fd;k tkrk gSA

	 (a)	 rjy ukbVªkstu	 (b)	 'kq"d ciQZ

	 (c)	 rjy vkWDlhtu	 (d)	 rjy veksfu;k

	91-	fuEu esa ls fdl jklk;fud xzqi ls lsY;wykst lacafèkr 
gS\

	 (a)	 'kdZjk	 (b)	 çksVhu

	 (c)	 fyfiM (olk)	 (d)	 U;wfDyd vEy

	92-	vkuqoaf'kd vfHk;kaf=kdh ç;ksxksa esa vR;ar mi;ksxh nks 
thok.kq gSa ______

	 (a)	 ukbVªkslkseksukl o Dyscflyk

	 (b)	 ,'kfjfdvk dksyh o ,xzkscSDVhfj;e

	 (c)	 ukbVªkscSDVj o ,tksVkscSDVj

	 (d)	 jkbtksfc;e o fMIyksdksdl

	93-	nks tSfod leqnk;ksa ds eè; dk laØe.k {ks=k dgykrk 
gSA

	 (a)	 bdksflLVe	 (b)	 bdksVksu

	 (c)	 bdSM	 (d)	 bdks cSfj;j

	94-	;fn dksbZ ,d buiqV HIGH (;k 1) rFkk vkmViqV Hkh 
HIGH (;k 1) gSa] rks GATE gS%

	 (a)	 OR xsV	 (b)	 AND xsV

	 (c)	 NOT xsV	 (d)	 NOR xsV
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	 95.	 The output C of given logic circuit is :
A

B

C

1

1

	 (a)	 0	 (b)	 1
	 (c)	 A	 (d)	 B
	 96.	 IP addresses are used on which layer of OSI 

reference model?
	 (a)	 Network Layer	 (b)	 Application Layer
	 (c)	 Transport Layer	 (d)	 Datalink Layer
	 97.	 Which of the following is primary memory in 

Computer System?
	 (a)	 Hard Disk	 (b)	 Compact Disk
	 (c)	 RAM	 (d)	 Pen Drive
	 98.	 Which of the following is function of Control Unit 

in CPU?
	 (a)	 Decode Program Instruction
	 (b)	 Perform Logical Operations
	 (c)	 Stores Programme
	 (d)	 None of these
	 99.	 Who initiated the ‘Maiti Movement’ in Uttarakhand?
	 (a)	 Sundar Lal Bahuguna
	 (b)	 Chandi Prasad Bhatt
	 (c)	 Kalyan Singh Rawat
	 (d)	 Medha Patkar
	100.	 At which place in Uttarakhand did the Indian 

Meteorological Department install a Doppler 
Weather Radar?

	 (a)	 Dehradun	 (b)	 Chakrata
	 (c)	 Mukteshwar	 (d)	 Chamoli
	101.	 In which year the Forest Research Institute was 

established in India?
	 (a)	 1896	 (b)	 1906
	 (c)	 1910	 (d)	 1950
	102.	 Kedarnath Wildlife Sanctuary has been established 

for the conservation of which animal?
	 (a)	 Himalayan Musk Deer
	 (b)	 Elephant
	 (c)	 Snow Leopard
	 (d)	 Monal
	103.	 Which of the following is a state tree of 

Uttarakhand?
	 (a)	 Sal	 (b)	 Teak
	 (c)	 Buransh	 (d)	 Brahma Kamal

	95-	fn, x, ykWftd lfdZV dk vkmViqV C gS%
A

B

C

1

1

	 (a)	 0	 (b)	 1

	 (c)	 A	 (d)	 B

	96-	OSI jsiQjsal ekWMy dh fdl ys;j ij IP ,Mªsl dk 
ç;ksx gksrk gS\

	 (a)	 Network ys;j	 (b)	 Application ys;j

	 (c)	 Transport ys;j	 (d)	 Datalink ys;j

	97-	fuEufyf[kr esa ls dkSu lh daI;wVj flLVe esa çkFkfed 
eseksjh gS\

	 (a)	 gkMZ fMLd	 (b)	 dkWEisDV fMLd

	 (c)	 jSe	 (d)	 isu Mªkbo

	98-	CPU esa daVªksy ;wfuV dk dk;Z fuEu esa ls dkSu lk 
gS\

	 (a)	 MhdksM çksxzke vuqns'k	 (b)	 ykWftdy dk;Z djuk

	 (c)	 çksxzke LVksj djuk	 (d)	 buesa ls dksbZ ugha

	99-	mÙkjk[k.M esa ^eSrh vkanksyu* ds tud dkSu gSa\

	 (a)	 lqanjyky cgqxq.kk

	 (b)	 paMh çlkn Hkêð

	 (c)	 dY;k.k flag jkor

	 (d)	 esèkk ikVdj

	100-	mÙkjk[k.M esa fdl LFkku ij Hkkjrh; ekSle foKku foHkkx 
us ,d ¶MkWiyj oSnj jMkj¸ dks LFkkfir fd;k\

	 (a)	 nsgjknwu	 (b)	 pdjkrk

	 (c)	 eqDrs'oj	 (d)	 peksyh

	101-	Hkkjr esa ou vuqlaèkku laLFkku dh LFkkiuk fdl o"kZ esa 
gqbZ Fkh\

	 (a)	 1896	 (b)	 1906

	 (c)	 1910	 (d)	 1950

	102-	dsnkjukFk oU;tho vHk;kj.; dks fdl tUrq ds laj{k.k 
gsrq LFkkfir fd;k x;k gS\

	 (a)	 fgeky;h dLrwjh e`x

	 (b)	 gkFkh

	 (c)	 fge rsanqvk

	 (d)	 eksuky

	103-	buesa ls dkSu lk mÙkjk[k.M dk jktdh; o`{k gS\

	 (a)	 lky	 (b)	 lkxkSu

	 (c)	 cqjka'k	 (d)	czã dey
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	104.	 Who among the following was awarded Nobel 
Peace Prize – 2021?

	 (a)	 Maria Ressa and Dmitry Muratov
	 (b)	 Benjamin List and David MacMillan
	 (c)	 World Food Programme
	 (d)	 Abiy Ahmed
	105.	 Who is the first Indian woman to scale Mt. 

Annapurna?
	 (a)	 Arunima Sinha	 (b)	 Priyanka Mohite
	 (c)	 Shivangi Pathak	 (d)	 Anita Devi
	106.	 In which year India’s highest Civilian Honour 

‘Bharat Ratna’ was awarded to Late Lata Mangeshkar?
	 (a)	 2001	 (b)	 1998
	 (c)	 2009	 (d)	 1996
	107.	 ‘Mitali Express’, a new passenger train, which was 

inaugurated recently, connects Dhaka with which 
Indian city?

	 (a)	 Kolkata	 (b)	 New Jalpaiguri
	 (c)	 Guwahati	 (d)	 Gangtok
	108.	 “The World Beneath His Feet” is the biography of 

whom of the following?
	 (a)	 Pullela Gopichand	 (b)	 Saina Nehwal
	 (c)	 Nawab Pataudi	 (d)	 Sachin Tendulkar
	109.	 Which Indian documentary was nominated for the 

Oscars – 2022?
	 (a)	 House of Secrets
	 (b)	 Searching for Sheela
	 (c)	 My Name is Salt
	 (d)	 Writing with Fire
	110.	 Which Indian state has launched the Student 

Startup and Innovation Policy (SSIP) 2.0 in 
January 2022?

	 (a)	 Andhra Pradesh	 (b)	 Kerala
	 (c)	 Gujarat	 (d)	 Haryana
	111.	 Name the unique strategy adopted by North-East 

Frontier Railway to keep wild elephants away from 
railway tracks.

	 (a)	 Plan Flee
	 (b)	 Plan Bee
	 (c)	 Plan Tea
	 (d)	 Plan Sweep
	112.	 Who won World Rapid Chess 2021?
	 (a)	 Nodirbek Abdusattorov
	 (b)	 Magnus Carlsen
	 (c)	 Ding Liren
	 (d)	 Hikaru Nakamura

	104-	fuEufyf[kr esa ls fdls ukscsy 'kkafr iqjLdkj& 2021 ls 
lEekfur fd;k x;k Fkk\

	 (a)	 ekfj;k jslk o fnfe=kh eqjkrkso

	 (b)	 csatkfeu fyLV o MsfoM eSdfeyu

	 (c)	 fo'o [kk| dk;ZØe

	 (d)	 vch vgen

	105-	vUuiw.kkZ ioZr ij p<+us okyh çFke Hkkjrh; efgyk dkSu 
gS\

	 (a)	 v#f.kek flUgk	 (b)	 fç;adk eksfgrs

	 (c)	 f'kokaxh ikBd	 (d)	 vuhrk nsoh

	106-	LoxhZ; yrk eaxs'kdj dks Hkkjr dk lokZsPp ukxfjd 
lEeku ^Hkkjr jRu* fdl o"kZ çnku fd;k x;k\

	 (a)	 2001	 (b)	 1998

	 (c)	 2009	 (d)	 1996

	107-	^ferkyh ,Dlçsl*] ,d ubZ ;k=kh jsy] ftldk gky gh 
esa mn~?kkVu fd;k x;k Fkk] <kdk dks fdl Hkkjrh; 'kgj 
ds lkFk tksM+rh gS\

	 (a)	 dksydkrk	 (b)	 U;w tyikbZxqM+h

	 (c)	 xqokgkVh	 (d)	 xaxVksd

	108-	n oYMZ fcuhFk fgt iQhV¸ fuEu esa ls fdldh thouh 
gS\

	 (a)	 iqysyk xksihpUn	 (b)	 lkbuk usgoky

	 (c)	 uokc iVkSnh	 (d)	 lfpu rsanqydj

	109-	fdl Hkkjrh; MkWD;qesaVªh dks vkWLdj&2022 ds fy;s 
ukekafdr fd;k x;k Fkk\

	 (a)	 gkml vkWiQ lhØsV~l

	 (b)	 lfpax iQkWj 'khyk

	 (c)	 ek; use b”k lkWYV

	 (d)	 jkbfVax fon iQk;j

	110-	fdl Hkkjrh; jkT; us tuojh 2022 esa Nk=k LVkVZvi 
vkSj uokpkj uhfr (,l-,l-vkbZ-ih-) 2-0 'kq: dh gS\

	 (a)	 vkaèkz çns'k	 (b)	dsjy

	 (c)	 xqtjkr	 (d)	 gfj;k.kk

	111-	taxyh gkfFk;ksa dks jsyos VªSd ls nwj j[kus ds fy;s iwokZsÙkj 
lhekar jsyos }kjk viukbZ xbZ vuwBh j.kuhfr dk uke 
crk,¡A

	 (a)	 Iyku Ýyh	 (b)	 Iyku ch

	 (c)	 Iyku Vh	 (d)	 Iyku Lohi

	112-	fo'o jSfiM 'krjat 2021 fdlus thrk\
	 (a)	 uksfnjcsd vCnqlÙkksjkso

	 (b)	 eSxul dkyZlu

	 (c)	 fMax fyjsu

	 (d)	 fgdk: ukdkeqjk
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	113.	 When is the ‘World Ozone Day’ celebrated?
	 (a)	 25th December	 (b)	 21st April
	 (c)	 16th September	 (d)	 30th January
	114.	 Which of the following newspapers won ‘Pulitzer 

Prize 2021’ in prestigious public service category?
	 (a)	 The Wall Street Journal
	 (b)	 The New York Times
	 (c)	 The Washington Post
	 (d)	 New York Post
	115.	 Which of the following is not rightly matched?
		  Name of Player		  Medals Won in Tokyo 

Olympics 2020
	 (a)	 P.V. Sindhu	 –	 Bronze Medal
	 (b)	 Bajrang Punia	 –	 Silver Medal
	 (c)	 Meerabai Chanu	–	 Silver Medal
	 (d)	 Neeraj Chopra	 –	 Gold Medal
	116.	 Major Dhyan Chand Sports University is being 

established at which place in India?
	 (a)	 Meerut	 (b)	 Agra
	 (c)	 Noida	 (d)	 Kanpur
	117.	 In December 2020, the Home Ministry declared 

which of the following states ‘Disturbed Area’ for 
six months under Armed Forces Special Powers 
Act, 1958?

	 (a)	 Jharkhand	 (b)	 Nagaland
	 (c)	 West Bengal	 (d)	 Punjab
	118.	 Which of the following railway stations of India 

has been recently developed with modern 
amenities like the airport with Public Private 
Partnership?

	 (a)	 New Delhi
	 (b)	 Rani Kamlapati Station, Bhopal
	 (c)	 Pune
	 (d)	 Chhatrapati Shivaji Terminus, Mumbai
	119.	 Match the List-I with List-II regarding world’s top 

Information Technology Companies and their CEO 
and choose the correct answer from the codes 
below :

		  List-I		  List-II
		  (Company)		  (CEO)
	 A.	 Google	 1.	 Satya Nadela
	 B.	 Microsoft	 2.	 Sunder Pichai
	 C.	 Twitter	 3.	 Parag Agarwal
	 D.	 Adobe	 4.	 Shantanu Narayan

	113-	fo'o vkstksu fnol* dc euk;k tkrk gS\
	 (a)	 25 fnlEcj	 (b)	 21 vçSy

	 (c)	 16 flrEcj	 (d)	30 tuojh

	114-	fuEufyf[kr lekpkji=kksa esa ls fdlus çfrf"Br yksd 
lsok Js.kh esa ^iqfyRtj iqjLdkj 2021 thrk gS\

	 (a)	 n okWy LVªhV tuZy

	 (b)	 n U;w;kWdZ VkbEl

	 (c)	 n okf'kaxVu iksLV

	 (d)	 U;w;kWdZ iksLV

	115-	fuEufyf[kr esa ls dkSu lk lgh lqesfyr ugha gS\
		  f[kykM+h dk uke		  VksD;ks vksfyfEid 2020 

esa foftr ind

	 (a)	 ih-oh- flaèkq	 &	 dkaL; ind

	 (b)	 ctjax iwfu;k	 &	 jtr ind

	 (c)	 ehjkckbZ pkuw	 &	 jtr ind

	 (d)	 uhjt pksiM+k	 &	 Lo.kZ ind

	116-	Hkkjr esa estj è;kupan [ksy fo'ofo|ky; dh LFkkiuk 
fdl LFkku ij dh tk jgh gS\

	 (a)	 esjB	 (b)	vkxjk

	 (c)	 uks,Mk	 (d)	 dkuiqj

	117-	fnlEcj 2020 esa x`g ea=kky; us l'kL=k cy fo'ks"k 
'kfDr;k¡ vfèkfu;e] 1958 ds vUrxZr fuEu esa ls fdl 
jkT; dks N% eghus ds fy;s ^v'kkUr {ks=k* ?kksf"kr fd;k 
Fkk\

	 (a)	 >kj[k.M	 (b)	 ukxkyS.M

	 (c)	 if'pe caxky	 (d)	 iatkc

	118-	fuEu esa ls Hkkjr ds fdl jsyos LVs'ku dks gky gh esa 
futh {ks=k dh lgHkkfxrk ds lkFk ,;jiksVZ dh rjg dh 
vkèkqfud lqfoèkkvksa okyk cuk;k x;k gS\

	 (a)	 ubZ fnYyh

	 (b)	 jkuh deykifr LVs'ku] Hkksiky

	 (c)	 iq.ks

	 (d)	 N=kifr f'kokth VfeZul] eqEcbZ

	119-	fo'o dh 'kh"kZ lwpuk çkS|ksfxdh (vkbZVh) dEifu;ksa ds 
lanHkZ esa lwph&I (dEiuh) vkSj lwph&II (lh bZ vks) 
dk feyku djds uhps fn;s x, dksM esa ls mÙkj dk 
lgh fodYi pqfu,%

		  lwph&I	 	lwph&II

		  (dEiuh)		 (lh bZ vks)

	 A.	 xwxy	 1-	lR;k uMsyk

	 B.	 ekbØkslkWÝV	 2-	lqUnj fipkbZ

	 C.	 fV~oVj	 3-	ijkx vxzoky

	 D.	 ,Mkscs	 4-	'kkUruq ukjk;u
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	 	 Codes :
		  A	 B	 C	 D
	 (a)	 1	 3	 4	 2
	 (b)	 2	 1	 3	 4
	 (c)	 1	 2	 4	 3
	 (d)	 4	 3	 2	 1

	120.	 Where did the Prime Minister Sri Narendra Modi 
lay the foundation stone of the largest airport in 
Asia in November 2021?

	 (a)	 Noida International Airport at Jewar
	 (b)	 Kushinagar Airport
	 (c)	 Delhi Airport
	 (d)	 Kempegowda International Airport in 

Bengaluru
	121.	 The famous ‘Gangasagar Mela’ is held in which 

of the following states of India?
	 (a)	 Gujarat	 (b)	 West Bengal
	 (c)	 Andhra Pradesh	 (d)	 Rajasthan
	122.	 Which of the following films won Golden Globe 

Award-2022 for Best Motion Picture (Drama)?
	 (a)	 Dune
	 (b)	 The Power of the Dog
	 (c)	 King Richard
	 (d)	 The Lost Daughter
	123.	 Match the following :
		  Dance		  State
	 A.	 Bharatanatyam	 1.	 Uttar Pradesh
	 B.	 Kathak	 2.	 Tamil Nadu
	 C.	 Kuchipudi	 3.	 Kerala
	 D.	 Mohiniattam	 4.	 Andhra Pradesh
	 	 Codes :
		  A	 B	 C	 D
	 (a)	 1	 3	 2	 4
	 (b)	 2	 4	 1	 3
	 (c)	 2	 1	 4	 3
	 (d)	 4	 2	 1	 3

	124.	 The largest hymns of Rigveda is dedicated to which 
Vedic god?

	 (a)	 Agni	 (b)	 Indra
	 (c)	 Varuna	 (d)	 Aditya
	125.	 In which of the following place the first Jain 

Council was held?
	 (a)	 Patliputra	 (b)	 Vaishali
	 (c)	 Mathura	 (d)	 Ujjain

	 	dwV%
		  A	 B	 C	 D
	 (a)	 1	 3	 4	 2
	 (b)	 2	 1	 3	 4
	 (c)	 1	 2	 4	 3
	 (d)	 4	 3	 2	 1

	120-	uoEcj 2021 esa çèkkuea=kh Jh ujsUæ eksnh us ,f'k;k ds 
lcls cM+s gokbZ vîós dk f'kykU;kl dgk¡ fd;k\

	 (a)	 uks,Mk vUrjkZ"Vªh; gokbZ vîók] tsoj

	 (b)	 dq'khuxj vîók

	 (c)	 fnYyh gokbZ vîók

	 (d)	 xhMk vUrjkZ"Vªh;

	121-	çfl¼ ^xaxklkxj esyk* fuEu esa ls fdl Hkkjrh; jkT; 
esa vk;ksftr fd;k tkrk gS\

	 (a)	 xqtjkr	 (b)	 if'pe caxky

	 (c)	 vkUèkz çns'k	 (d)	jktLFkku

	122-	fuEufyf[kr esa ls fdl fiQYe us loZJs"B pyfp=k 
(Mªkek) ds fy;s xksYMu Xyksc vokMZ&2022 thrk\

	 (a)	 M~;wu

	 (b)	 n ikWoj vkWiQ n MkWx

	 (c)	 fdax fjpMZ

	 (d)	 n ykWLV MkWVj

	123-	lqesfyr dhft,%

		  u`R;		 jkT;

	 A.	 HkjrukV~;e~	 1-	mÙkj çns'k

	 B.	 dRFkd	 2-	rfeyukMq

	 C.	 dqfpiqMh	 3-	dsjy

	 D.	 eksfguhve	 4-	vkaèkz çns'k

	 	dwV%
		  A	 B	 C	 D
	 (a)	 1	 3	 2	 4
	 (b)	 2	 4	 1	 3
	 (c)	 2	 1	 4	 3
	 (d)	 4	 2	 1	 3

	124-	½Xosn ds lokZfèkd ea=k fdl oSfnd nsork dks lefiZr 
gSa\

	 (a)	 vfXu	 (b)	 bUæ

	 (c)	 o#.k	 (d)	 vkfnR;

	125-	fuEufyf[kr esa ls fdl LFkku ij çFke ^tSu ifj"kn* 
dk vk;kstu gqvk Fkk\

	 (a)	 ikVfyiq=k	 (b)	 oS'kkyh

	 (c)	 eFkqjk	 (d)	 mTtSu
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	126.	 Which among the following play was written by 
Harshavardhan?

	 (a)	 Harshacharita

	 (b)	 Kadambari

	 (c)	 Devichandraguptam

	 (d)	 Priyadarshika

	127.	 Which of the following dynasty is associated with 
the female king Rudrma Devi?

	 (a)	 Eastern Ganga	 (b)	 Hoyasala

	 (c)	 Kakatiya	 (d)	 Western Chalukya

	128.	 The author of ‘Lilavati’, Bhaskar-IInd was –
	 (a)	 Physician	 (b)	 Mathematician

	 (c)	 Musician	 (d)	 Sculptor

	129.	 The religious text which explains about the eight 
different phases of agriculture works

	 (a)	 Avdanashataka

	 (b)	 Aryamanjushrimulakalpa

	 (c)	 Milindapanho

	 (d)	 Deepavansa

	130.	 What was the ratio of Gold-Silver coins in the 
Shaka-Kshtrapa period?

	 (a)	 1 : 20	 (b)	 1 : 25

	 (c)	 1 : 35	 (d)	 1 : 10

	131.	 Gadhaiya was a ________.
	 (a)	 Coin	 (b)	 Land Tax

	 (c)	 Trade Tax	 (d)	 Military Officer

	132.	 Udiyanjiral belongs to which dynasty?
	 (a)	 Chera dynasty

	 (b)	 Pandyas dynasty

	 (c)	 Chola dynasty

	 (d)	 Satavahana dynasty

	133.	 Which among the following Rashtrakuta ruler built 
the Kailas temple of Ellora?

	 (a)	 Govind-IInd	 (b)	 Amoghavarsha

	 (c)	 Indra-IIIrd	 (d)	 Krishna-Ist

	134.	 In Mauryan period ‘Pranayam’ was –
	 (a)	 Emergency Tax	 (b)	 Love Marriage

	 (c)	 Land Grant	 (d)	 Land Tax

	135.	 Which among the following Rashtrakuta King 
defeated Pratihara ruler Nagabhatta-II?

	 (a)	 Dhruva	 (b)	 Govind-IIIrd

	 (c)	 Indra-IIIrd	 (d)	 Krishna-IIIrd

	126-	fuEufyf[kr esa ls fdl ukVd dh jpuk g"kZoèkZu }kjk 
dh xbZ Fkh\

	 (a)	 g"kZpfjr	 (b)	dknEcjh

	 (c)	 nsohpUæxqIre~	 (d)	 fç;nf'kZdk

127-	fuEufyf[kr esa ls dkSu lk jktoa'k efgyk 'kkld #æeknsoh 

ls lEcfUèkr gS\

	 (a)	 iwohZ xax	 (b)	 gks;ly

	 (c)	 dkdrh;	 (d)	 if'peh pkyqD;

	128-	^yhykorh* dk ys[kd HkkLdj f}rh; Fkk

	 (a)	 fpfdRld	 (b)	 xf.krK

	 (c)	 laxhrK	 (d)	 ewfrZdkj

	129-	og èkkfeZd iqLrd] ftlesa Ñf"k deZ dh vkB fofHkUu 

voLFkkvksa dk o.kZu feyrk gS

	 (a)	 vonku'krd

	 (b)	 vk;ZeatqJhewydYi

	 (c)	 fefyUniUgks

	 (d)	 nhioa'k

	130-	'kd {k=ki dky esa lksus pk¡nh ds flDdksa dk vuqikr 

D;k Fkk\

	 (a)	 1%20	 (b)	 1%25

	 (c)	 1%35	 (d)	 1%10

	131-	xèkS;k Fkk _______ 
	 (a)	 flDdk	 (b)	 Hkwfe dj

	 (c)	 O;kikj dj	 (d)	 lSU; vfèkdkjh

	132-	mfn;athjy fdl oa'k ls lEcfUèkr Fkk\

	 (a)	 psj oa'k

	 (b)	 ik.M; oa'k

	 (c)	 pksy oa'k

	 (d)	 lkrokgu oa'k

	133-	fuEufyf[kr esa ls fdl jk"VªdwV 'kkld us ,ykSjk ds 
dSykl efUnj dk fuekZ.k djk;k Fkk\

	 (a)	 xksfoUn f}rh;	 (b)	 veks?ko"kZ

	 (c)	 bUæ r`rh;	 (d)	 Ñ".k çFke

	134-	ekS;Z dky esa ç.k;e Fkk

	 (a)	 vkikrdkyhu dj	 (b)	 çse fookg

	 (c)	 Hkwfe vuqnku	 (d)	 Hkwfe dj

	135-	fuEufyf[kr esa ls fdl jk"VªdwV 'kkld us çfrgkj 'kkld 

ukxHkêð f}rh; dks gjk;k Fkk\

	 (a)	 èkzqo	 (b)	 xksfoUn r`rh;

	 (c)	 bUæ r`rh;	 (d)	 Ñ".k r`rh;
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	136-	^gtkj nhukjh* uke ls fdls tkuk tkrk Fkk\

	 (a)	 cycu	 (b)	 efyd dkiQwj

	 (c)	 fldUnj yksnh	 (d)	 dqrqcqíhu ,scd

	137-	fuEufyf[kr esa ls dkSu bYrqrfe'k dk çfr}anh ugha Fkk\

	 (a)	 rktqíhu ;YnkSt

	 (b)	 ukfl#íhu dqckpk

	 (c)	 vyh enkZu

	 (d)	 efyd vYrqfu;k

	138-	fct;uxj dky esa nf{k.k Hkkjr dh fdl u`R; ijEijk 
dk igyh ckj fodkl gqvk\

	 (a)	 eksfguhvêðe	 (b)	 ;{kxku

	 (c)	 Ñ".kvêðe	 (d)	 HkjrukV~;E

	139-	fuEufyf[kr esa ls fdlus ^[ktkbu&my&iQrg* uked 
iqLrd dh jpuk dh\

	 (a)	 glu futkeh	 (b)	 vehj [kqljks

	 (c)	 feUgkt ml fljkt	 (d)	ft;kmíhu cjuh

	140-	fuEufyf[kr esa ls dkSu ^uwjtgk¡ tqUVk* dk lnL; ugha 
Fkk\

	 (a)	 bReknqíkSyk	 (b)	 vkliQ [kku

	 (c)	 egkcr [kku	 (d)	[kqjZe

	141-	fuEufyf[kr esa ls dkSu dSfcusV fe'ku dk lnL; ugha 
Fkk\

	 (a)	 iSfFkd ykWjsUl	 (b)	 tkWu lkbeu

	 (c)	 ,-oh- ,ysDts.Mj	 (d)	lj LVsiQksMZ fØIl

	142-	Hkkjr esa foÙkh; fodsUæhdj.k fdlus çkjEHk fd;k Fkk\

	 (a)	 ykWMZ fjiu	 (b)	 ykWMZ MygkSth

	 (c)	 pkYlZ esVdkWiQ	 (d)	ykWMZ es;ks

	143-	xaxkjke rFkk [khenso uked nks HkkbZ fdl vkUnksyu ds 
nkSjku 'kghn gq, Fks\

	 (a)	 ued lR;kxzg vkUnksyu

	 (b)	 Mksyk ikydh vkUnksyu

	 (c)	 dqyh csxkj vkUnksyu

	 (d)	 Hkkjr NksM+ks vkUnksyu

	144-	jktk jkeeksgu jk; dh çfl¼ Ñfr ̂ fxÝV Vw eksuksFksbZLV* 
fdl Hkk"kk esa fy[kh x;h Fkh\

	 (a)	 iQkjlh	 (b)	 vaxzsth

	 (c)	 vjch	 (d)	caxkyh

	145-	1929 esa egkRek xkaèkh us fdl LFkku ij vuklfDr ;ksx 
ds vuqokn dk dk;Z iw.kZ fd;k\

	 (a)	 dkSlkuh	 (b)	 vYeksM+k

	 (c)	 uSuhrky	 (d)	 jkuh[ksr

	136.	 Who was known as ‘Hazar-Dinari’?
	 (a)	 Balban
	 (b)	 Malik Kafur
	 (c)	 Sikandar Lodi
	 (d)	 Qutubuddin Aibak
	137.	 Who among the following was not the rivals of 

Iltutmish?
	 (a)	 Tajuddin Yeldoz
	 (b)	 Nasiruddin Kubacha
	 (c)	 Ali Mardan
	 (d)	 Malik Altunia
	138.	 Which South Indian dance tradition was firstly 

developed during the time of Vijaynagar?
	 (a)	 Mohiniattam	 (b)	 Yakshagaan
	 (c)	 Krishnaattam	 (d)	 Bharatanatyam
	139.	 Who among the following wrote the book 

‘Khazain-ul-Futuh’?
	 (a)	 Hasan Nizami	 (b)	 Amir Khusrau
	 (c)	 Minhas-us-Siraj	 (d)	 Ziauddin Barni
	140.	 Who among the following was not a member of 

‘Nurjahan’s Junta’?
	 (a)	 Itimad-ud-daulah	 (b)	 Asaf Khan
	 (c)	 Mahabat Khan	 (d)	 Khurram
	141.	 Who among the following was not a member of 

Cabinet Mission?
	 (a)	 Pathik Lawrence	 (b)	 John Simon
	 (c)	 A.V. Alexander	 (d)	 Sir Staford Cripps
	142.	 Who introduced ‘Financial Decentralisation’ in 

India?
	 (a)	 Lord Rippon	 (b)	 Lord Dalhousie
	 (c)	 Charles Metcaff	 (d)	 Lord Mayo
	143.	 During which movement the two brothers 

Gangaram and Kheemdev were martyred?
	 (a)	 Salt Satyagraha Movement
	 (b)	 Dola-Palki Movement
	 (c)	 Kuli-Begar Movement
	 (d)	 Quit India Movement
	144.	 In which language the famous work of Raja 

Rammohan Roy ‘Gift to Monotheists’ was written?
	 (a)	 Persian	 (b)	 English
	 (c)	 Arabic	 (d)	 Bengali
	145.	 In 1929 at which place Mahatma Gandhi completed 

his translation of Anasakti Yoga?
	 (a)	 Kausani	 (b)	 Almora
	 (c)	 Nainital	 (d)	 Ranikhet
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	146-	Hkkjrh; la?k esa foy; ds le; fVgjh jkT; dk jktk 
dkSu Fkk\

	 (a)	 ujsUæ 'kkg	 (b)	 dhfrZ 'kkg

	 (c)	 çrki 'kkg	 (d)	 ekuosUæ 'kkg

	147-	fVgjh fj;klr ds çFke ujs'k dkSu Fks\

	 (a)	 lqn'kZu 'kkg	 (b)	 yfyr 'kkg

	 (c)	 efgir 'kkg	 (d)	 iQrsg 'kkg

	148	dkyw egjk lEcfUèkr gS ______
	 (a)	 dqyh csxkj vkUnksyu ls

	 (b)	 1857 ds foæksg ls

	 (c)	 Mksyk ikydh vkUnksyu ls

	 (d)	 fpidks vkUnksyu ls

	149-	fuEufyf[kr eè;dkyhu xzUFkksa esa ls dkSu mÙkjk[k.M ds 
bfrgkl dk lzksr ugha gS\

	 (a)	 rkjh[k&,&cnk;w¡uh	 (b)	 tgk¡xhjukek

	 (c)	 'kkgtgk¡ukek	 (d)	 ckcjukek

	150-	fo"kqon~ & js[kk fuEu esa ls fdl ns'k ls ugha xqtjrh gS\

	 (a)	 dsU;k	 (b)	 esfDldks

	 (c)	 b.Mksusf'k;k	 (d)	czkthy

	146.	 Who was the ruler of the Tehri state at the time of 
its merger in the Indian Union?

	 (a)	 Narendra Shah	 (b)	 Keerti Shah
	 (c)	 Pratap Shah	 (d)	 Manvendra Shah
	147.	 Who was the first ruler of Tehri State?
	 (a)	 Sudarshan Shah	 (b)	 Lalit Shah
	 (c)	 Mahipat Shah	 (d)	 Fateh Shah
	148.	 Kalu Mahra is associated with ______.
	 (a)	 Kuli Begar Movement
	 (b)	 Revolt of 1857
	 (c)	 Dola Palki Movement
	 (d)	 Chipko Movement
	149.	 Which of the following medieval book is not the 

source of the history of Uttarakhand?
	 (a)	 Tarikh-i-Badauni	 (b)	 Jahangirnama
	 (c)	 Shahjahannama	 (d)	 Babarnama
	150.	 The equator does not pass through which of the 

following countries?
	 (a)	 Kenya	 (b)	 Mexico
	 (c)	 Indonesia	 (d)	 Brazil


